An 8.0 ¢ ice cube at —10°C is put into a Thermos flask
omaining 100 em® of water at 20°C. By how much has the
entropy of the cube-water system changed when equilibrium

.« reached? The specific heat of ice is 2220 Jkg - K.
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A Camot engine operates between 235°C and 115°C. ab-
sorbing 6.30 X 10* J per cycle at the higher temperature. (a)
What is the efficiency of the engine? (b) How much work per
cycle is this enginc capable of performing? SSM www
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A 500 W Carnot engine operates between constant-
temperature reservoirs at 100°C Ind 60.0°C. What 1s the rate
at which energy is (a) taken in by the engine as heat and (b)
exhausted by the engine as heat?
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@ Figure 20-27 shows a re- «

versible cvcle through which prr- o

1.00 mol of a monatomic ideal
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@ The electric motor of a heat pump transfers energy as
heat from the outdoors. which is at —3.0°C. to a room that 1s
at 17°C. If the heat pump were a Carnot heat pump (a Carnot

engine working in reverse), how much energy would be trans.
ferred as heat to the room for each joule of electric energy
consumed?
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The motor in a refrigerator has a nower of 200 W. If
the freezing compartment is at 270 K and the outside air 1s at
300 K. and assuming the efficiency of a Carnot refrigerator.
what is the maximum amount of enerw that can be extracted
as heat from the freezing compartment in 10.0 min?
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